Math 10 Foundations and Pre-Calculus
Chapter 5 Practice Test Questions Answers	
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6. a)  24 – 4 +1 =21    	 b) 54 – (-6) +1=61 	c)  	

7) -2

8.	
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9.	Lance rides his bicycle in his neighbourhood for exercise.  The graph below shows his ride from his home to the shore of the Fraser River and back.    
[image: 5-TestPt1]a) Approximately how long did Lance ride around his neighbourhood? 110 minutes
b) How many kilometers away from Lance’s home is the Fraser River?  8 km
c) On the way to the river, Lance stopped to talk to a friend.  How far away from home was he at that moment? 5 km
d) How much time did he spend along the shore of the Fraser River?  10 mins













10. a)  Yes, any vertical line drawn on the graph passes through 0 or 1 point.			b)  No, because the vertical line test does not pass at 175 cm.

11.	a)Domain
 
Range:
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b) Domain
 
Range:
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12.	
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13) 
 
14.	Here is a graph of the function g(x) = 4x – 3.
[image: tg_c05_cyu-t19]a) Determine the range value when the domain value is 3.
		9

b) Determine the domain value when the range value is –7.      -1










14. Express “y” as a function of ‘”x”.    Include the domain and range of the two variables.
 x



y







15.	
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16.	
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17. To use a mini race car at the fun park, the cost is $12 for a tank of gas plus a rental fee for every hour of driving.  It cost $22 to race the car for one hour.  Assume that you are billed per minute of driving and you are only allowed to rent the car for a maximum of 4 hours.

a) [image: plain graph paper]Graph this relationship.  Be sure to label
both axis and pick and appropriate scale.60

[bookmark: _GoBack]50

b) What is the hourly rental rate?
$10/hour40

c) How much does it cost to rent the 
car for 2 hours and 15 minutes?30
Cost in ($) 

15 minutes = 0.25 hours 20

2.25 x 10 + 12 = $34.50 
10

d) What is the domain of the graph?
Domain is the amount of time that you 4

can rent the car for. 3
1
2

 

e) What is the range of this graph?Time in hours


Range is the cost of driving the car 
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a) For each number i the first column. there 15 only one number in the second column.
So. the relation is a function.

1) Since the cost, C dollars, depends on the mumber of fickets, 1, C'is the dependent
Variable and n is the independent variable.

©) The first column of the table s representative of the domain.
The domainis: {1,2,3,4, 5. ..} that s, al naural numbers

‘The second column of the table is representative of the range.
The range is: {1.75. 3.50, 5.25. 7.00. 8.75. ...}: that i, the product of each natural
number and 1.75.
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) The cost of the feast is a function of the number of pecple attending.
In function notation: C(n) = 257 + 1000

b) To determine C(100), use:
Cln) =257+ 1000 Substitute: 7 = 100
C(100) = 25(100) * 1000
C(100) =2500 + 1000
C(100) = 3500
C(100) is the value of C when = 100,
‘This means that when the number of people attending is 100,
the cost of the feast is $3500.

©) To determine the value of n when C(r) = 5000, use:

Cln) =25n+ 1000 Substitute: C(n) = 5000

5000 =25%+ 1000 Solve for .

4000=25n Divide each side by 25
n=160

C(160) = 5000 means that when 7= 160, C = 5000; that is, when the number of people
attending is 160, the cost of the feast is $5000.
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a) Person G is the oldest because he or she is represented by the point on the graph
farthest to the right and the horizontal axis represents age. Person G is 18 years old.

b) Person A is the youngest because he or she is represented by the point on the graph
farthest to the left and the horizontal axis represents age. Person A is 0 years old, a
newborn baby.

¢) Persons B and C have the same height because the points that represent them lie on the
same horizontal line and it passes through 100 on the Height axis. The height
is 100 em.

d) Persons D and E have the same age because the points that represent them lie on the
same vertical line and it passes through 10 on the Age axis. The age is 10 years.

€) Person B s taller for her or his age because he or she is the same height as Person C,
but 1 year younger.
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Math 10 Name:
Ms. Loo Page 1 of 7

Chapter 5 Test — Functions |

Please answer the following questions in the space provided and CIRCLE your final
answers. Show all work for full marks. GOOD LUCK! @

Formulas:
m= Y2~ Y1
Xz =%
1. Write an equation to describe the function shown. [1 mark]

2. Alexa is snowboarding at Whistler. She takes the gondola to the top and rides to the bottom

stopping twice to rest for a short period of time. Which graph best describes her elevation as a
function of time? [1 mark]

a)

0 Time 0 Time

3. Lance rides his bicycle in his neighborhood for exercise. The graph shown describes his

ride. How long did it take Lance to complete his ride? [1 mark]
/ = =
a) 1 hr 20 min . LANCE'S BICYULE  RIOCE
b) 1 hr 40 min %
1S ol
¢) 1 hr 50 min g
d) 2hr ‘g 51
¢
e) 8hr 3
t
S
VA

o

30 ©o 40
Time. (mns)
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a) The dot at the right end of the graph indicates that
the graph stops at that point. There is no dot at the left
end of the graph. so the graph continues to the left.
The domain is the set of x-values of the function.
Visualize the shadow of the graph on the y-axis.
The domain is the set of all real numbers less than
or equal to 5: that is, x < 5.

The range is the set of y-values of the function.
Visualize the shadow of the graph on the y-axis.
The range is the set of all real numbers less than
or equal fo 2; that is, < 2.
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b) The dot at each end of the graph indicates that
the graph stops at that point.
The domain is the set of x-values of the function.
Visualize the shadow of the graph on the y-axis.
The domain is the set of real numbers between -3 and 5,
including these numbers; that is, —3 D

The range is the set of y-values of the function.
Visualize the shadow of the graph on the y-axis.

The range is the set of real numbers between 3 and 7,
including these numbers: that is, 3 < y < 7.
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a) The approximate height of the tide is a function of time. Since the height of the tide,
J metres, depends on the time of day, the dependent variable is / and the independent
variable is 7.

b) The points on the graph are connected because the height of the tide is not restricted to
a whole number. This means that the values between the points are valid: for example,
between 10:00 and 11:00 the height of the tide increases from 1.2 m to 1.4 m. The
height increases gradually, and has values between 1.2 m and 1.4 m

¢) The domain is the set of times; that is, 09:00
The range is the set of heights of the tide: that is, 0.9
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Create a table of values, then check to see if the relation is linear.
) Every hou, the distance travelled by the dogsled increases by 10 k.

Time (hours) Distance
Travelled (km)
+1 0 0 10
1 10
1 3 3 10
+1 3 30 +10

There is a constant change of 1 in the 15t column and a constant change of 10 in the
2nd column, so the relation is linear.

b) The area of a square is the square of ifs side length

Side Length | Area (cm)

(cm)
o 1 T 3
ot 2 : +5
i 2 = 7
-1 5 5 +9

There is a constant change of 1 in the Ist column, but the differences in the 2ad column
are not constant. So, the relation is not linear.
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For Graph A
) The dependent variable is the volume, 7. The independent variable is the fime, £
b) Choose two points on the line.
Calculate the change in cach variable from one point fo the other.
Grapn
00 L Filling a Hot Tub
0 mun

Change in volume: 800 L0 L
Change in time: 40 min — 0 min

Rate of change: 00k

1600

0 Limin 1200

30 min

0

Votume ()

The rate of change is positive so the volume
is increasing with time. Every minute,
20 L of water are added to the tank.

a0,

DA
Tionelnirsta /| gk il

3

For Graph B.
) The dependent variable is the volume, 7. The independent variable is the fime, £
b) Choose two points on the line.

Calculate the change in cach variable from one point fo the other.

Graph®
Change in volume: 0L — 1600 L= ~1600 L. B i
Change in time: 40 min — 0 min = 40 min oo

1600 L ke
Rate of change: o= =40 Limin 2

H0mn 3P
The rate of change is negative so the volume H
i decreasing with time. Every minute, Valume decrdes %

40 L of water are removed from the tank. by 1oL 1
ERERDT
Time (min)





image15.png




image1.png
a) The relation shows the association “belongs to the class” from a set of animals
to a set of classes. For example, an eagle belongs to the class Aves.

b) i) The animals arc the first clements in the ordered pairs,
The classes are the second elements in the ordered pairs.
The ordered pairs arc: {(ant, Insccta), (eagle, Aves), (snake, Reptilia),
(turtle, Reptilia), (whale, Mammalia)}

ii) The animals are written in the first set of the arrow diagram.
The classes are written in the second set; each class is written only once.

belongs to the class

ant

eagle

Insecta
snake

turtle
whale
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a) The relation shows the association “has this number of letter:
words to a set of natural numbers.

from a set of English

b) Two ordered pairs that belong to the relation are:
(animal, 6). (umbrella, 8)
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a) Check to see if any ordered pairs have the same first element:
{(4.2).(6.2). (6.3).(.2). (9. 3)}
Two ordered pairs have the same first element
So, the set of ordered pairs does not represent a function.

) Check fo see if any element i the first set
associates with more than one clement
in the second set.
Each clement in the first set associates with
exactly one element in the second sef; that is,
there is exactly one arrow from cach month in the firs set.
So. the relation is a funcion.

‘The domain is the set of first elements:

{Jamuary. February. March, April}

‘The range is the set of associated second elements:
(28,30, 31}




